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Sin(x) Fonksiyonunun Teğeti

x

y
f (x ) = sin(x )

x : -3.14

f (-3.14) = sin(-3.14) : 0.0

f ′(-3.14) = cos(-3.14) : -1.0

Teğetin Eğimi : -1.0

y -ekseni ile kesişimi: -3.14

Teğetin Denklemi: y = -1.0 x + -3.14

-3.14
0.0

x : -3.05

f (-3.05) = sin(-3.05) : -0.09

f ′(-3.05) = cos(-3.05) : -1.0

Teğetin Eğimi : -1.0

y -ekseni ile kesişimi: -3.13

Teğetin Denklemi: y = -1.0 x + -3.13

-3.05
-0.09

x : -2.97

f (-2.97) = sin(-2.97) : -0.17

f ′(-2.97) = cos(-2.97) : -0.98

Teğetin Eğimi : -0.98

y -ekseni ile kesişimi: -3.09

Teğetin Denklemi: y = -0.98x + -3.09

-2.97 -0.17

x : -2.88

f (-2.88) = sin(-2.88) : -0.26

f ′(-2.88) = cos(-2.88) : -0.97

Teğetin Eğimi : -0.97

y -ekseni ile kesişimi: -3.04

Teğetin Denklemi: y = -0.97x + -3.04

-2.88 -0.26

x : -2.79

f (-2.79) = sin(-2.79) : -0.34

f ′(-2.79) = cos(-2.79) : -0.94

Teğetin Eğimi : -0.94

y -ekseni ile kesişimi: -2.96

Teğetin Denklemi: y = -0.94x + -2.96

-2.79 -0.34

x : -2.7

f (-2.7 ) = sin(-2.7 ) : -0.42

f ′(-2.7 ) = cos(-2.7 ) : -0.91

Teğetin Eğimi : -0.91

y -ekseni ile kesişimi: -2.87

Teğetin Denklemi: y = -0.91x + -2.87

-2.7 -0.42

x : -2.62

f (-2.62) = sin(-2.62) : -0.5

f ′(-2.62) = cos(-2.62) : -0.87

Teğetin Eğimi : -0.87

y -ekseni ile kesişimi: -2.77

Teğetin Denklemi: y = -0.87x + -2.77

-2.62
-0.5

x : -2.53

f (-2.53) = sin(-2.53) : -0.57

f ′(-2.53) = cos(-2.53) : -0.82

Teğetin Eğimi : -0.82

y -ekseni ile kesişimi: -2.65

Teğetin Denklemi: y = -0.82x + -2.65

-2.53
-0.57

x : -2.44

f (-2.44) = sin(-2.44) : -0.64

f ′(-2.44) = cos(-2.44) : -0.77

Teğetin Eğimi : -0.77

y -ekseni ile kesişimi: -2.51

Teğetin Denklemi: y = -0.77x + -2.51

-2.44
-0.64

x : -2.36

f (-2.36) = sin(-2.36) : -0.71

f ′(-2.36) = cos(-2.36) : -0.71

Teğetin Eğimi : -0.71

y -ekseni ile kesişimi: -2.37

Teğetin Denklemi: y = -0.71x + -2.37

-2.36
-0.71

x : -2.27

f (-2.27) = sin(-2.27) : -0.77

f ′(-2.27) = cos(-2.27) : -0.64

Teğetin Eğimi : -0.64

y -ekseni ile kesişimi: -2.22

Teğetin Denklemi: y = -0.64x + -2.22

-2.27

-0.77

x : -2.18

f (-2.18) = sin(-2.18) : -0.82

f ′(-2.18) = cos(-2.18) : -0.57

Teğetin Eğimi : -0.57

y -ekseni ile kesişimi: -2.07

Teğetin Denklemi: y = -0.57x + -2.07

-2.18

-0.82

x : -2.09

f (-2.09) = sin(-2.09) : -0.87

f ′(-2.09) = cos(-2.09) : -0.5

Teğetin Eğimi : -0.5

y -ekseni ile kesişimi: -1.91

Teğetin Denklemi: y = -0.5 x + -1.91

-2.09

-0.87

x : -2.01

f (-2.01) = sin(-2.01) : -0.91

f ′(-2.01) = cos(-2.01) : -0.42

Teğetin Eğimi : -0.42

y -ekseni ile kesişimi: -1.75

Teğetin Denklemi: y = -0.42x + -1.75

-2.01

-0.91

x : -1.92

f (-1.92) = sin(-1.92) : -0.94

f ′(-1.92) = cos(-1.92) : -0.34

Teğetin Eğimi : -0.34

y -ekseni ile kesişimi: -1.6

Teğetin Denklemi: y = -0.34x + -1.6

-1.92

-0.94

x : -1.83

f (-1.83) = sin(-1.83) : -0.97

f ′(-1.83) = cos(-1.83) : -0.26

Teğetin Eğimi : -0.26

y -ekseni ile kesişimi: -1.44

Teğetin Denklemi: y = -0.26x + -1.44

-1.83

-0.97

x : -1.74

f (-1.74) = sin(-1.74) : -0.98

f ′(-1.74) = cos(-1.74) : -0.17

Teğetin Eğimi : -0.17

y -ekseni ile kesişimi: -1.29

Teğetin Denklemi: y = -0.17x + -1.29

-1.74

-0.98

x : -1.66

f (-1.66) = sin(-1.66) : -1.0

f ′(-1.66) = cos(-1.66) : -0.09

Teğetin Eğimi : -0.09

y -ekseni ile kesişimi: -1.14

Teğetin Denklemi: y = -0.09x + -1.14
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-1.66

-1.0

x : -1.57

f (-1.57) = sin(-1.57) : -1.0

f ′(-1.57) = cos(-1.57) : 0.0

Teğetin Eğimi : 0.0

y -ekseni ile kesişimi: -1.0

Teğetin Denklemi: y = 0.0 x + -1.0

-1.0

-1.57

-1.0

x : -1.48

f (-1.48) = sin(-1.48) : -1.0

f ′(-1.48) = cos(-1.48) : 0.09

Teğetin Eğimi : 0.09

y -ekseni ile kesişimi: -0.87

Teğetin Denklemi: y = 0.09 x + -0.87

-0.87

-1.48

-1.0

x : -1.4

f (-1.4 ) = sin(-1.4 ) : -0.98

f ′(-1.4 ) = cos(-1.4 ) : 0.17

Teğetin Eğimi : 0.17

y -ekseni ile kesişimi: -0.74

Teğetin Denklemi: y = 0.17 x + -0.74

-0.74

-1.4

-0.98

x : -1.31

f (-1.31) = sin(-1.31) : -0.97

f ′(-1.31) = cos(-1.31) : 0.26

Teğetin Eğimi : 0.26

y -ekseni ile kesişimi: -0.63

Teğetin Denklemi: y = 0.26 x + -0.63

-0.63
-1.31

-0.97

x : -1.22

f (-1.22) = sin(-1.22) : -0.94

f ′(-1.22) = cos(-1.22) : 0.34

Teğetin Eğimi : 0.34

y -ekseni ile kesişimi: -0.52

Teğetin Denklemi: y = 0.34 x + -0.52

-0.52
-1.22

-0.94

x : -1.13

f (-1.13) = sin(-1.13) : -0.91

f ′(-1.13) = cos(-1.13) : 0.42

Teğetin Eğimi : 0.42

y -ekseni ile kesişimi: -0.43

Teğetin Denklemi: y = 0.42 x + -0.43

-0.43-1.13

-0.91

x : -1.05

f (-1.05) = sin(-1.05) : -0.87

f ′(-1.05) = cos(-1.05) : 0.5

Teğetin Eğimi : 0.5

y -ekseni ile kesişimi: -0.34

Teğetin Denklemi: y = 0.5 x + -0.34

-0.34-1.05

-0.87

x : -0.96

f (-0.96) = sin(-0.96) : -0.82

f ′(-0.96) = cos(-0.96) : 0.57

Teğetin Eğimi : 0.57

y -ekseni ile kesişimi: -0.27

Teğetin Denklemi: y = 0.57 x + -0.27

-0.27-0.96

-0.82

x : -0.87

f (-0.87) = sin(-0.87) : -0.77

f ′(-0.87) = cos(-0.87) : 0.64

Teğetin Eğimi : 0.64

y -ekseni ile kesişimi: -0.21

Teğetin Denklemi: y = 0.64 x + -0.21

-0.21-0.87

-0.77

x : -0.79

f (-0.79) = sin(-0.79) : -0.71

f ′(-0.79) = cos(-0.79) : 0.71

Teğetin Eğimi : 0.71

y -ekseni ile kesişimi: -0.15

Teğetin Denklemi: y = 0.71 x + -0.15

-0.15-0.79
-0.71

x : -0.7

f (-0.7 ) = sin(-0.7 ) : -0.64

f ′(-0.7 ) = cos(-0.7 ) : 0.77

Teğetin Eğimi : 0.77

y -ekseni ile kesişimi: -0.11

Teğetin Denklemi: y = 0.77 x + -0.11

-0.11
-0.7

-0.64

x : -0.61

f (-0.61) = sin(-0.61) : -0.57

f ′(-0.61) = cos(-0.61) : 0.82

Teğetin Eğimi : 0.82

y -ekseni ile kesişimi: -0.07

Teğetin Denklemi: y = 0.82 x + -0.07

-0.07
-0.61
-0.57

x : -0.52

f (-0.52) = sin(-0.52) : -0.5

f ′(-0.52) = cos(-0.52) : 0.87

Teğetin Eğimi : 0.87

y -ekseni ile kesişimi: -0.05

Teğetin Denklemi: y = 0.87 x + -0.05

-0.05
-0.52
-0.5

x : -0.44

f (-0.44) = sin(-0.44) : -0.42

f ′(-0.44) = cos(-0.44) : 0.91

Teğetin Eğimi : 0.91

y -ekseni ile kesişimi: -0.03

Teğetin Denklemi: y = 0.91 x + -0.03

-0.03
-0.44-0.42

x : -0.35

f (-0.35) = sin(-0.35) : -0.34

f ′(-0.35) = cos(-0.35) : 0.94

Teğetin Eğimi : 0.94

y -ekseni ile kesişimi: -0.01

Teğetin Denklemi: y = 0.94 x + -0.01

-0.01
-0.35-0.34

x : -0.26

f (-0.26) = sin(-0.26) : -0.26

f ′(-0.26) = cos(-0.26) : 0.97

Teğetin Eğimi : 0.97

y -ekseni ile kesişimi: -0.01

Teğetin Denklemi: y = 0.97 x + -0.01

-0.01
-0.26-0.26

x : -0.17

f (-0.17) = sin(-0.17) : -0.17

f ′(-0.17) = cos(-0.17) : 0.98

Teğetin Eğimi : 0.98

y -ekseni ile kesişimi: 0.0

Teğetin Denklemi: y = 0.98 x + 0.0

0.0
-0.17-0.17

x : -0.09

f (-0.09) = sin(-0.09) : -0.09

f ′(-0.09) = cos(-0.09) : 1.0

Teğetin Eğimi : 1.0

y -ekseni ile kesişimi: 0.0

Teğetin Denklemi: y = 1.0 x + 0.0

0.0
-0.09

-0.09

x : 0.0

f (0.0 ) = sin(0.0 ) : 0.0

f ′(0.0 ) = cos(0.0 ) : 1.0

Teğetin Eğimi : 1.0

y -ekseni ile kesişimi: 0.0

Teğetin Denklemi: y = 1.0 x + 0.0

0.0
0.0

0.0

x : 0.09

f (0.09 ) = sin(0.09 ) : 0.09

f ′(0.09 ) = cos(0.09 ) : 1.0

Teğetin Eğimi : 1.0

y -ekseni ile kesişimi: 0.0

Teğetin Denklemi: y = 1.0 x + 0.0

0.0
0.09

0.09

x : 0.17

f (0.17 ) = sin(0.17 ) : 0.17

f ′(0.17 ) = cos(0.17 ) : 0.98

Teğetin Eğimi : 0.98

y -ekseni ile kesişimi: 0.0

Teğetin Denklemi: y = 0.98 x + 0.0

0.0
0.17

0.17

x : 0.26

f (0.26 ) = sin(0.26 ) : 0.26

f ′(0.26 ) = cos(0.26 ) : 0.97

Teğetin Eğimi : 0.97

y -ekseni ile kesişimi: 0.01

Teğetin Denklemi: y = 0.97 x + 0.01

0.01
0.26

0.26

x : 0.35

f (0.35 ) = sin(0.35 ) : 0.34

f ′(0.35 ) = cos(0.35 ) : 0.94

Teğetin Eğimi : 0.94

y -ekseni ile kesişimi: 0.01

Teğetin Denklemi: y = 0.94 x + 0.01

0.01
0.35

0.34

x : 0.44

f (0.44 ) = sin(0.44 ) : 0.42

f ′(0.44 ) = cos(0.44 ) : 0.91

Teğetin Eğimi : 0.91

y -ekseni ile kesişimi: 0.03

Teğetin Denklemi: y = 0.91 x + 0.03

0.03
0.44

0.42

x : 0.52

f (0.52 ) = sin(0.52 ) : 0.5

f ′(0.52 ) = cos(0.52 ) : 0.87

Teğetin Eğimi : 0.87

y -ekseni ile kesişimi: 0.05

Teğetin Denklemi: y = 0.87 x + 0.05

0.05
0.52

0.5

x : 0.61

f (0.61 ) = sin(0.61 ) : 0.57

f ′(0.61 ) = cos(0.61 ) : 0.82

Teğetin Eğimi : 0.82

y -ekseni ile kesişimi: 0.07

Teğetin Denklemi: y = 0.82 x + 0.07

0.07
0.61

0.57

x : 0.7

f (0.7 ) = sin(0.7 ) : 0.64

f ′(0.7 ) = cos(0.7 ) : 0.77

Teğetin Eğimi : 0.77

y -ekseni ile kesişimi: 0.11

Teğetin Denklemi: y = 0.77 x + 0.11

0.11
0.7

0.64

x : 0.78

f (0.78 ) = sin(0.78 ) : 0.71

f ′(0.78 ) = cos(0.78 ) : 0.71

Teğetin Eğimi : 0.71

y -ekseni ile kesişimi: 0.15

Teğetin Denklemi: y = 0.71 x + 0.15

0.15

0.78

0.71

x : 0.87

f (0.87 ) = sin(0.87 ) : 0.77

f ′(0.87 ) = cos(0.87 ) : 0.64

Teğetin Eğimi : 0.64

y -ekseni ile kesişimi: 0.21

Teğetin Denklemi: y = 0.64 x + 0.21

0.21

0.87

0.77

x : 0.96

f (0.96 ) = sin(0.96 ) : 0.82

f ′(0.96 ) = cos(0.96 ) : 0.57

Teğetin Eğimi : 0.57

y -ekseni ile kesişimi: 0.27

Teğetin Denklemi: y = 0.57 x + 0.27

0.27

0.96

0.82

x : 1.05

f (1.05 ) = sin(1.05 ) : 0.87

f ′(1.05 ) = cos(1.05 ) : 0.5

Teğetin Eğimi : 0.5

y -ekseni ile kesişimi: 0.34

Teğetin Denklemi: y = 0.5 x + 0.34

0.34

1.05

0.87

x : 1.13

f (1.13 ) = sin(1.13 ) : 0.91

f ′(1.13 ) = cos(1.13 ) : 0.42

Teğetin Eğimi : 0.42

y -ekseni ile kesişimi: 0.43

Teğetin Denklemi: y = 0.42 x + 0.43

0.43

1.13

0.91

x : 1.22

f (1.22 ) = sin(1.22 ) : 0.94

f ′(1.22 ) = cos(1.22 ) : 0.34

Teğetin Eğimi : 0.34

y -ekseni ile kesişimi: 0.52

Teğetin Denklemi: y = 0.34 x + 0.52

0.52

1.22

0.94

x : 1.31

f (1.31 ) = sin(1.31 ) : 0.97

f ′(1.31 ) = cos(1.31 ) : 0.26

Teğetin Eğimi : 0.26

y -ekseni ile kesişimi: 0.63

Teğetin Denklemi: y = 0.26 x + 0.63

0.63

1.31

0.97

x : 1.4

f (1.4 ) = sin(1.4 ) : 0.98

f ′(1.4 ) = cos(1.4 ) : 0.17

Teğetin Eğimi : 0.17

y -ekseni ile kesişimi: 0.74

Teğetin Denklemi: y = 0.17 x + 0.74

0.74

1.4

0.98

x : 1.48

f (1.48 ) = sin(1.48 ) : 1.0

f ′(1.48 ) = cos(1.48 ) : 0.09

Teğetin Eğimi : 0.09

y -ekseni ile kesişimi: 0.87

Teğetin Denklemi: y = 0.09 x + 0.87

0.87

1.48

1.0

x : 1.57

f (1.57 ) = sin(1.57 ) : 1.0

f ′(1.57 ) = cos(1.57 ) : 0.0

Teğetin Eğimi : 0.0

y -ekseni ile kesişimi: 1.0

Teğetin Denklemi: y = 0.0 x + 1.0

1.0

1.57

1.0

x : 1.66

f (1.66 ) = sin(1.66 ) : 1.0

f ′(1.66 ) = cos(1.66 ) : -0.09

Teğetin Eğimi : -0.09

y -ekseni ile kesişimi: 1.14

Teğetin Denklemi: y = -0.09x + 1.14

1.14

1.66

1.0

x : 1.74

f (1.74 ) = sin(1.74 ) : 0.98

f ′(1.74 ) = cos(1.74 ) : -0.17

Teğetin Eğimi : -0.17

y -ekseni ile kesişimi: 1.29

Teğetin Denklemi: y = -0.17x + 1.29

1.29

1.74

0.98

x : 1.83

f (1.83 ) = sin(1.83 ) : 0.97

f ′(1.83 ) = cos(1.83 ) : -0.26

Teğetin Eğimi : -0.26

y -ekseni ile kesişimi: 1.44

Teğetin Denklemi: y = -0.26x + 1.44

1.44

1.83

0.97

x : 1.92

f (1.92 ) = sin(1.92 ) : 0.94

f ′(1.92 ) = cos(1.92 ) : -0.34

Teğetin Eğimi : -0.34

y -ekseni ile kesişimi: 1.6

Teğetin Denklemi: y = -0.34x + 1.6

1.6

1.92

0.94

x : 2.01

f (2.01 ) = sin(2.01 ) : 0.91

f ′(2.01 ) = cos(2.01 ) : -0.42

Teğetin Eğimi : -0.42

y -ekseni ile kesişimi: 1.75

Teğetin Denklemi: y = -0.42x + 1.75

1.75

2.01

0.91

x : 2.09

f (2.09 ) = sin(2.09 ) : 0.87

f ′(2.09 ) = cos(2.09 ) : -0.5

Teğetin Eğimi : -0.5

y -ekseni ile kesişimi: 1.91

Teğetin Denklemi: y = -0.5 x + 1.91

1.91

2.09

0.87

x : 2.18

f (2.18 ) = sin(2.18 ) : 0.82

f ′(2.18 ) = cos(2.18 ) : -0.57

Teğetin Eğimi : -0.57

y -ekseni ile kesişimi: 2.07

Teğetin Denklemi: y = -0.57x + 2.07

2.07

2.18

0.82

x : 2.27

f (2.27 ) = sin(2.27 ) : 0.77

f ′(2.27 ) = cos(2.27 ) : -0.64

Teğetin Eğimi : -0.64

y -ekseni ile kesişimi: 2.22

Teğetin Denklemi: y = -0.64x + 2.22

2.22

2.27

0.77

x : 2.35

f (2.35 ) = sin(2.35 ) : 0.71

f ′(2.35 ) = cos(2.35 ) : -0.71

Teğetin Eğimi : -0.71

y -ekseni ile kesişimi: 2.37

Teğetin Denklemi: y = -0.71x + 2.37
2.37

2.35

0.71

x : 2.44

f (2.44 ) = sin(2.44 ) : 0.64

f ′(2.44 ) = cos(2.44 ) : -0.77

Teğetin Eğimi : -0.77

y -ekseni ile kesişimi: 2.51

Teğetin Denklemi: y = -0.77x + 2.51
2.51

2.44

0.64

x : 2.53

f (2.53 ) = sin(2.53 ) : 0.57

f ′(2.53 ) = cos(2.53 ) : -0.82

Teğetin Eğimi : -0.82

y -ekseni ile kesişimi: 2.65

Teğetin Denklemi: y = -0.82x + 2.652.65

2.53

0.57

x : 2.62

f (2.62 ) = sin(2.62 ) : 0.5

f ′(2.62 ) = cos(2.62 ) : -0.87

Teğetin Eğimi : -0.87

y -ekseni ile kesişimi: 2.77

Teğetin Denklemi: y = -0.87x + 2.772.77

2.62

0.5

x : 2.7

f (2.7 ) = sin(2.7 ) : 0.42

f ′(2.7 ) = cos(2.7 ) : -0.91

Teğetin Eğimi : -0.91

y -ekseni ile kesişimi: 2.87

Teğetin Denklemi: y = -0.91x + 2.872.87

2.7

0.42

x : 2.79

f (2.79 ) = sin(2.79 ) : 0.34

f ′(2.79 ) = cos(2.79 ) : -0.94

Teğetin Eğimi : -0.94

y -ekseni ile kesişimi: 2.96

Teğetin Denklemi: y = -0.94x + 2.96
2.96

2.79

0.34

x : 2.88

f (2.88 ) = sin(2.88 ) : 0.26

f ′(2.88 ) = cos(2.88 ) : -0.97

Teğetin Eğimi : -0.97

y -ekseni ile kesişimi: 3.04

Teğetin Denklemi: y = -0.97x + 3.04
3.04

2.88

0.26

x : 2.97

f (2.97 ) = sin(2.97 ) : 0.17

f ′(2.97 ) = cos(2.97 ) : -0.98

Teğetin Eğimi : -0.98

y -ekseni ile kesişimi: 3.09

Teğetin Denklemi: y = -0.98x + 3.09
3.09

2.97

0.17

x : 3.05

f (3.05 ) = sin(3.05 ) : 0.09

f ′(3.05 ) = cos(3.05 ) : -1.0

Teğetin Eğimi : -1.0

y -ekseni ile kesişimi: 3.13

Teğetin Denklemi: y = -1.0 x + 3.13
3.13

3.05
0.09

x : 3.14

f (3.14 ) = sin(3.14 ) : 0.0

f ′(3.14 ) = cos(3.14 ) : -1.0

Teğetin Eğimi : -1.0

y -ekseni ile kesişimi: 3.14

Teğetin Denklemi: y = -1.0 x + 3.14

3.14

3.14
0.0
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